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UNIVERSITY OF NORTH BENGAL 

B.A. Programme 4th Semester Examination, 2023  

SEC1-P2-SANSKRIT 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 UNIT-I  

1. Answer any one of the following questions: 12×1 = 12 

(a) How many विृ°s are admitted in पात¼जल योग ? Name them. Write a detailed 
note on any one of them. 

 

(b) Write a detailed note on ईĵर according to योगदशªन ।  

   

2. Explain any two of the following Sūtras: 6×2 = 12 

(a) तदा þĶò ः ÖवłपऽेवÖथानम ्।  

(b) अËयासवैराµयाËयां तिÆनरोधः ।  

 (c) िवतकª िवचारानÆदािÖमताłपानगुमात् सÌÿ²ातः ।  

(d) तत् ÿितषेधाथªमेकतßवाËयासः ।  

   

3. Write short note any two of the following questions: 3×2 = 6 

 परवैराµयम् ; असÌÿ²ातसमािधः; ÿणवः ।  

   

 UNIT-II  

4. Answer any one of the following questions: 12×1 = 12 

(a) Write an essay on the philosophical idea as discussed in ईशोपिनषद ्।  

(b) Discuss the role of कमª to realise आÂमा in ईशोपिनषद ्।  

   

5. Explain any one of the following: 6×1 = 6 

(a) यिÖमन् सवाªिण भूताÆयाÂमैवाभूिĬजानतः । 

तý को मोहः कः शोकः एकÂवमनुपÔयतः ।। 

 

(b) अÆधं तमः ÿिवशिÆत येऽिवīामुपासते । 

ततो भूय इव ते तमो य उ िवīायां रता ।। 
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6. Translate into Bengali or English any two of the following verses: 3×2 = 6 

(a) यÖतु सवाªिण भूताÆयाÂमÆयेवानपुÔयित । 

सवªभूतेष ुचाÂमानं ततो न िवजगुÈुसते ।। 

 

(b) िवīां चािवīां च यÖतĬदेोभयं सह । 

अिवīया मÂृयुं तीÂवाª िवīयामतृमĳुते ।। 

 

(c) िहरÁमयेन पाýेण सÂयÖयािपिहतं मखुम् । 

तßवं पूषÆनपावणृ ुसÂयधमाªय ŀĶये ।। 

 

   

7. Answer any two of the following questions: 3×2 = 6 

(a) In which veda does the ईशोपिनषद् belongs to? What is its other name?  

(b) What is the meaning of the term अिवīा in ईशोपिनषद ्?  

(c) What is the meaning of the term मातåरĵा in ईशोपिनषद ्?  

 
——×—— 

 

 


